MhixoS57

Strong clamping

SEHMLico B0 T—993 Y TIRTA

Workpiece clamping systems for 5-axis machines

> FED < ORIV S8R T

Less interference and superior accessibility!

- SHERERY THREWNT — I3
Off line preparation provides you
quick work changing!

= SIEWDOhARTHEN IS T
It clamps a workpiece strongly
with minimum clamping length.

av/No bk
Compact

2R
Direct

mounting
type

D—O&&RETAT
FryFoJ!
KON TR R R

Clamping the work-
piece with the short-
est length from the
table! Providing wider
machining area.

N
IMST

VD—ORNVT AT A

Ae—hJVYy7

WORK HOLDER SYSTEM

SMART GRIP

9499
Fr o8
Quick change
type
EXERY BFfE, N TRFRE D
EHETCEEIRNEKRBAY

Rreduced set-up time and ma-
chining time lead to drastically
reduced production costs!

=9
Workpiece
IITT=INo57

Dovetail clamping

s D—bHIL Y
— Work holder
STl

High rigidity

ME
BEISET IS Ay R

Hydraulic

For automatic changing U
: clamping

HSKA 4 —71—R
HSK interface

KA <
1411

MS T corporation



9499

FOh - —
Quick cha:;e FTT=IVIS52T AR Dovetail clamping system

SN ot TERAS ST EfiET—oEHEIRR I

It clamps a workpiece strongly with minimum clamping length. Cost savings with expensive materials

U— (LB ABINIY 7T I MD)ETAE D120 Dh AR T2EERAICI ST T—oDO S TEPLIE BHDAR ST I HR]K,
5§E7:/:/7t 7&0)1E|Jﬁj]DI—C:E):F/$b\fJ< . #)bﬁ&lﬂ@%ﬂj b’&ﬁ%ﬁ(:?ﬁ'i\ It achieves material cost savings because the work-piece clamping

area is kept to a minimum thus limiting the amount of work-piece

S’ﬁhfi“r/"ibtﬂuléifﬂbii material needed for machining.

It allows strong work-piece clamping even when there is a limited clamping area when performing

simple additional machining (dovetail machining) on the work-piece.

It achieves strong and stable machining during side face machining without any interference, 3

minimal tool holder length and cutting tool projection when using a 5-axis machining center. m}_ /

§7F—IIT HRAF (3 (S ERERY) T P = p————

Dovetail grooving Mounting Machining ) {IE;E(Dﬁ?/j t YIT—NOST

(Off-line setup) % Existing clamping method Dovetail clamping
- N 7JI]I${§II Processing examples
EWRILS
I ‘ 300 N
» * Tl AYE O—sALs
Su;l)erior Head Work Ifwolder 63OON
tool holder
’}‘7‘&(/\975\7}{'%—5 accessibility s
= Less
EEBRNI ST interference [¢] asc w

Provides ultra-rigid clamping for
two faces with small clamping area!

C | B
LEELEUEL ? ' 025
2EH#RHSK FTTF=INo52T

HSK two face contact Dovetail clamping

HSKA > #—27 x—2X HSK interface

=14 High rigidity HSK-A 40 HSK-A 63 HSK-A100
£S5 7H110KN ©5> 7 H120KN £5> 7 H30KN
Clamping force : 10kN Clamping force : 20kN Clamping force : 30kN

T—ORIVGENY REDIESA =T 2—RI(E Y=LKV
A OELTEREBDH DISODHSK-AZ A TEIRBLTWET,
B BEGRHRIFTES, DV TNAKBARTHYEMNS,
SOEFRIMEEMIBROBEERELELL,

We have adopted the world standard HSK-A type, time-proven tool _rj
holder shanks for the interface coupling between the work holder 2
and the head.

Superior bending rigidity and positioning accuracy are achieved
despite the simple method of changing holders, which makes also
automation possible.

FIEONT— o3 LS ERERY

Quick workpiece changing and off-line setup.

!

VIR IDIHREV FIDOTHBECTELTINBBIS oo o ISUURILE  BARRHULLSST 734 R
ARET, HOEMLOHT—0ET— RIS Iy FLTEIFIE, Dovetail clamping Flange mounting Si?e screw Vise
FICROMINTRES, | I i ]

Easy work holder changing using just a wrench. Off-line setup is
possible, so you can start the next machining quickly when the
workpiece is mounted to the work holder in advance.

gLV I+

EeZbd

S @
type

D=0V EEET —TIVICRUTHET, D e RN TRELL
D— 0 ERETETF rvF I TEET, : e aghnne
R IDOMIERE LR TEET,

It clamps a work-piece with the shortest length

thanks to direct mounting on the table, and provides
a larger machining area.

R

The
shortest

TITF=No52T TSR UC

Dovetail clamping Flange mounting [& [& & [& &

L |
2 W vsT



9499
FrooB

. &~
Quick change AY R Head
type

7:17}|/95.‘/77H\ A
O‘ Manual clamping hole
A
D2 f—— =i - |bs
Y
Y
H1
F125H34—A63—70 ¢ H -
O950Th| o
CODE H | ¢D1| ¢D2 | Hi1 G P.C.D Clamping
force
F100H21—A 40— 50 HSK—A 40 50 50 100 25 M 6X30 | 55~ 85 10 kN 1.7
F125H34—A 63— 70 HSK—A 63 70 80 125 30 M 8X35 | 80~100 20 kN 3.8
F200H53—A100—110 HSK—A100 110 125 200 50 M12X50 | 125~160 30 kN 13.9
| EPEVI SV A% MOption ® Adapter
BEENMER 0T\ RILLUF  @EfHIFRILIX44 EStandard @ T-handle wrench @ Fixing boltX4 pcs.
W& Z 0U—URNSIERZaATINI SV TRISBETY, accessories
SR ([CEERMTI N TERMERIII I T4 I T —hETHERES, ENote @ The manual clamping hole is required for mounting.
O FREWMT — TNV ICEDLEAEROEFELRVETOTEHMEE LS, ® Use the adopter, when you cannot mount it.

@ Consult us about the custom-made products for your machining table.

Lo yeE L _ . . <
1&%1&@*?}& Positioning accuracy @iﬁﬁﬁ@%*ﬁgfd?fﬁﬁlk@ﬁ/f
BiSHM B AR High-accuracy positioning methods for
C:n(I:entmcwty

‘ Rotation direction rotation direction
| # V. co— =
FyFIO-—T THREBESBHECHENTAET,
Z8h AR —— The touch probe all ick and
Z-axis direction “L*m : el L licksncilo Rl ek
\

A 40 40

BLUM B#EsvF7/0—7
A 63 63 High accuracy touch probe.
A100 100 TC50 / TC52

3 (-

T
1
1
L

ANy REWIT — 7V ICEEIUT TERWNSEICTER TV BEHROEWM T —7IVICE DL TEMIATRE
BISVOMBCRELTCEBYVET. BRATY 77 HRENVELETOTEREE <N,
In the case where you can’t mount the head directly to your machining table, please use this adapter.

We can supply an adapter blank that is customizable and also manufacture a special adapter just for you.
For more information, please feel free to contact us.

Fig. 1

F200H50—A63 b
. BANYRYLZ | O
CODE Fig.| T ¢D | ¢H G1 G2 P.C.D ll\’lzgl‘;c:il;:ee
F160H32—A 40 1 20 | 160 | 32 | M 5X20 | M 6X20 80~125 A 40 2.6
F200H32—A 40 25 | 200 M 8X25 | M10X25 | 100~160 5
F160H50—A 63 1 20 | 160 | 50 | M 5X20 | M 6X20 80~125 A 63 2.4
F200H50—A 63 25 | 200 M 8X25 | M10X25 | 100~160 4.7
F250H50—A 63 2 30 | 250 M10X30 | M12X30 | 140~200 9.4
F250H80—A100 2 30 | 250 | 80 | M10X30 | M12X30 | 140~200 A100 8.7

L |
W vsT



#7F—)b Dovetail

A63—DOC25—65

o
2

g

on a workpiece

OHomLHT—oI128TTF—I
MEBRFELTEEET,

Pre-machining male dovetail

@F 77— OMMNESDE T
[FIIIZUET,
Combines dovetail, tightening
and machining

QFRERY TT—IVinE

CODE H | Hi | ¢C | W | H2 | G | SW
A 40—DOC 17.5—55 55 25 30 17.5 M 5 4 0.4
—DOC 25 -—55 28 40 25 M 6 5 0.6
—DOC 35 —55 25 50 35 0.7
—DOC 50 —60 60 30 70 50 M 8 1.2
A 63—DOC 25 —65 65 27 40 25 M 6 5 1.2
—DOC 35 —65 50 35 1.3
—DOC 50 -—70 70 30 70 50 5 M 8 6 1.8
—DOC 70 —75 75 35 100 70 M10 8 3
A100—DOC 35 —70 70 27 50 35 M 6 5 3.3
—DOC 50 -—75 75 32 70 50 M 8 6 3.8
—DOC 70 —75 35 100 70 M10 8 5
—DOC100 -—85 85 40 140 100 10 7.7
r- """ "-""-""-""-"""-""-"""-"""""-"""-""""="-""'"""="-""-""-"""""="-"----—————= A r-—-—--=-=-=-=-====
: '7—77J[|IO)$JIIE Procedures for machining a workpiece : 977___)l/j3 v &—
| | Dovetail cutter
' L1 977 hys—CDNTORE
! @ =) =) A e
Please contact us if you would
I T I like more information regarding
: g : the dovetail cutter.
| |
| |
| |
| |
-

W 0.1

h1£01 h2

45Df\ 60 10

HIUEELET,

Cut off unnecessary
portion
Toticoms | M | h2
DOC 17.5 2.5 0.5
DOC 25 3.5 0.7

DOC 35
DOC 50 5.5
DOC 70
DOC100 10.5

L |
W vsT



5 &

7539 Flange mounting

Fig. 1

[

el

% G
- el
A63—FP85—50
CODE Fig. L |¢D|¢pD1¢pD2 ¢D3 ¢d hi|h2| Ti T2 | T3 |¢pd2/¢d3s] Gi G2
A 40—FP 40—35 | 1 (35| 40|32 — | — | 25 | 12| 4 M4x 6| — — | — | —|M6x15/M4x 803
—FP 63—40 | 2 | 40 | 63 50 B M5 5.5 M 6X20 0.5
A 63—FP 63—45 | 1 |45 63|50 | —  — | 40 13| 5 |[M5%x 8 — — | — | — | M10X20|M6%X10 0.9
—FP 85—50 | 2 | 50 | 85 73 18354 M6 6.6 M10X 25 1.2
—FP110—55 | 3 | 55 | 110 95 MEX 9/M 8 9 | M10%30 1.7
A100—FP100—55 | 1 |55 10085 | — | — | 70 17| 7 |[M8x12| — — | — | — | M12Xx25|M8%16 |3
—FP130—65 | 2 | 65 | 130 115 18658 M8 9 M12 X 35 4.2
—FP160—70 | 3 | 70 | 160 140 M8X 12 M10 11 | M12x40 5.3
| Ev @ 75 74(—p. 6) @ fIERDHRR
B ZENER e i y—HRILNG)X1s @ Ty hRZUA(G2)X34
@ ME4ERE/NRTENR)L M (EEERDEHME)X 34 (A63—FP85—50 /| A63—FP110—55)
YOBEDOMEF vy TRV aFTERBWVEEITERA.
| E @ tII—RIVNTI—0EOSUTH £y bR 1GEIERLSIEE, r-r——-""—"—--—--——————— |
EOption @ Adapter(—P. 6) @ Positioner bos '7— 0HK1TJ‘[j'7‘j_5f
W Standard @ Center screw(Gi)X1 pc. @ Set screw(G2)X3 pcs.

accessories g M6 special small head bolt(the head diameter size is the same as the M5 bolt.)X3 pcs.

(A63—FP85—50 | A63—FP110—55)
XRegular M6 cap screw doesn't fit.

HENote @ Use the G2 set screw when you use the center blot to clamp the workpiece.
Fm— — e e e e e e e e e e e e e e —
' D—o~HEDER (fj)Ex.: A63—FP85—50)
I Work-piece size indication J—4&E :3XDs(63)=189
| th_)rl;]—tpiece
eig!
| T—U/E _ P
: = J—01% :1.4XD (85)=119
Work-piece =3Ds Work-pi . .
| fonriee 12 XDs(o9)=126
| — .. . T—ORAR 919X 189LLIA
—! x_kgé <1.4D ZVOrk—piece : within ¢119X189L
H ork-piece ="' i t
: | — diameter &%ew :2100cm3LLA
I ¢Ds © 1 ¢D:a;1§:d%. i 7—7?§§%D73§_@$E%': Cubic size  : within 2100cri
. | L, [Sep ] eos
| I____l piece dia. A 40 40
| A 63 63
I A100 100
L e e e e e e e e e e e e e -
'fﬁl%/k(bﬂ‘x Positioner bos
ROIBRODPVLEIFIZEICERLES { hnivd
Use it when you need centering. ‘ i Work
RNGH1T | 2 Ds
CODE $D4 | ¢Ds lHoIder type D4 vy hX7) 2
IR15—A 40FP| 15 | 25 A 40 0.05| |3 ~ Set screw
Qoo T[ ik _
IR25—A 63FP| 25 | 40 | A 63 |0 - ez
: P [(mzes
-0.033 % Chamferin g's urface
’_J
IR40—A100FP | 40 70 A100 0.5 '
0 RIVEZAT r2—RILE
-0039 Holder type Center screw

BiEE @ £ y—RILNTHRMFIFTEELTIZS,
EVIEODLERSEZ AT ERE LY PRIV TEELTI L,
HENote @ Affix it with the center bolt. When you do not want the workpiece to rotate,

secure the chamfering surface using a set screw.

L |
W vsT

@775 %ER

Using a adapter

Otry—RILERK
Center bolt type

@77 PRIV
Flange bolt type

@75 sy 7R
Flange tap type

Adapter

Work-piece mounting methods

T I—RIVETT—oRILID
TN R OBIKVETES,
The center bolt clamps the
work-piece from behind the
work holder taper shank.

D=0l TMIZETN, 7—2
RIVIDRILRRICKRIL S EBL
THATITES,

Bolts clamp the work-piece
through the work holder bolt
holes. Tapping is required on
the workpiece.

T—=2I RILERIMIZERELT
D—oRINIDE Yy TREFAL
WIHTES,

The workpiece is clamped using
the thread on the work holder.
Tapping is required on the
workpiece.

RERNG (LT T EERTD
ZETNED—VERMFFRIE
MTEEXT,

The small workpiece is mounted
using a adapter with a large
diameter holder.



7&7’9 Adapter

frERIL ~(G3)

Connecting blot

Hosngsss

RS—AB3—A40 /W\
a i
/"J L“\
wIVIE4L4T . -
CODE Holder type Fig. | ¢D | ¢D1 ¢d H1 H2 H T G2 Gs3
RS—A 63—A40 A 63—FP 63—45 1 40 32 25 12 4 50 M4X6 M 6X20 M4X 8 M5X16 0.5
_ _ +0.053
FP 85—50 10020
—FP110—55
RS—A100—A40 A100—FP100—55 2 40 32 25 12 4 60 M4 X6 M 6X20 M4Xx 8 M8X25 1.5
_ _ +0.053
FP130—65 10020
—FP160—70
RS—A100—A63 A100—FP100—55 1 63 50 40 13 5 55 M5X8 M10X20 M6X10 M8X25 1.7
_ _ +0.064
FP130—65 10025
—FP160—70
WEEAER @ try—RILNG) X14 @ tyhR&Ja(G2) X345 @ EAFEMMNIHGS) X34
| Z @t I—RIVNTI—0%05 TH £y hRI)2GEIERALIZZ,
lStandard_ @ Center screw(G1) X1 pc. @ Set screw(G2) X3 pcs. @ Fixing bolt(G3) X3 pcs.
accessories
HNote @ Use the G2 set screw when you use the center bolt to clamp the workpiece.
/\'fZ Vise
INARA Vise A INAAB Vise B
=
1 e el
ﬁ?j s w S| |0 |10
E"‘" o o o o
-.‘T.
i = =
L RRIE 20 *3)
B —
25X (GBAE—1)
(Number of grooves—1)
A63—DOV110I A63DOV90
A
CODE as, w G L L1 CODE Number ofl B | W G L1
grooves
— Nl _ 2om
A 63—DOV1101 | 110 36~ 80| 24~MEAZI0 | g0/35/57| |A 63—DOV 90, 3 | 90|15~70 %0 M"'g';st?] 85(35/3.8
_ N _ R
A100—DOV1401 | 140 | 36~110 | 52~ MERZ10 1100 |35/ 99| |A100—DOV140| 5 |140/15~70|30"MHREE 100 35| 77

N MRS
mE =

B Standard
accessories

W Note

® SmmAFELUF
® FOITTF—IMIZINET—IERY—IHRIVFTT,
VEICIEC.NARLEDY v TETER<ZE,

® 8mm hex rench

@ Dedicated work holder for dove tail pre-machined workpiece.

Please use screw hole on the top face as necessary.

B REMER
WE z

B Standard .
accessories

W Note

L |
W vsT

® SmmAAL VT
@ FHYTTIINIENZT—VERT—UKRIVITT,

BEELNA R LEDS v 2RSS,

@® 8mm hex rench

Please use screw hole on the top face as necessary.

@ Dedicated work holder for dove tail pre-machined workpiece.



'U"f FZQUJ Side screw

YA RRAOYUA Side screw A

T e
A63—SCS10—55 r— W
M5 W2 B EENER 0050 TRI)aKGINIRIKIX2y
Al i z OUIVTAUYIKRGNIEMICEDE TEELTILEL,
d 0.5~1 .Satgcngsasrodries @Screw with cup point(G1)(Dimple edge)X?2 pcs.
- HENote ®Choose the clamping screw (G1) for your application.
CODE w W' | Wi | Wz | B | L L ¢C| H | H |H |G Gz
A 40—SCS10—40 10.5 5~10 | 11.5 12.5 30 40 1 39 10 4.5 — — M 6| 0.3

A 63—SCS10—55 10.5 5~10 | 20 23.5 50 55 21 62 20 7.5 17 M5 | M10 | 1.1
—SCS20—55 205 | 15~ 20 | 25 28.5

A100—SCS10—70 10.5 5~ 10 | 245 |29 80 70 26 99 25 9 20 M12 | 3.5
—SCS20—70 205 | 156~ 20 | 295 | 34
—SCS30—70 305 | 256 ~ 30 | 345 |39 3.6

HBARAOUaB Side screw B

@C

.

— T
GIIS5YTRIY2K) oo
%%?O@ Large screw OS'EMH A R)
(\)@@@@, GaHSYTRIY 1N = Size of workpiece
’_\, Small screw

. L | ‘
y L1 G (7Y v ARRY Y1)

[

’ L Adjust screw
A63—SCD30—70
CODE OS | L |Li|¢C| H|Hi Hz| G1 G2 | Gs
A 40—SCD20—55 15~20 | 55 | 30 | 49 | 25 1 — | M 8X16 | M4X12 | M10 | 0.5
A 63—SCD20—65 15~20 | 65 | 30 | 49 | 25 1 — | M 8X16 | M4X12 | M10 | 1.2
—SCD25—70 | 20~25 | 70 | 35 | 56 | 30 8 | 20 1.3
—SCD30—70 | 25~30 44 | 62 | 35 9 | 24 | M10X20 | M5X12 1.4
—SCD40—85 | 35~40 | 85 | 52 | 76 | 45 | 12 | 30 | M12X20 | M6X12 1.9
A100—SCD20—70 15~20 | 70 | 30 | 49 | 25 1 — | M 8X16 | M4X12 | M10 | 3
—SCD25—75 | 20~25 | 75 | 35 | 56 | 30 8 | 20 3.4
—SCD30—80 | 25~30 | 80 62 | 35 9 | 24 | MI0X20 | M5X12 3.5
—SCD40—90 | 35~40 | 90 | 45 | 76 | 45 | 12 | 30 | M12X20 | M6X12 3.9

B EEAER 050725 1)aKk(G) X4y

W Standard @ Large screw(Gi)X4 pcs.
accessories

L |
W vsT



4Lk

K47 )it == .
Direct &77-_)1/ Dovetail
mounting
type F— == ——— = 1
- ' £ L Y TF—Ihys— !
oy I Dovetai |
i ovetail cutter
=u ‘ | |
¢140| A9 g0 S wic | 77— hys—ICDNTORHE I
= | (A ETEBREDLETE, |
l | | Please contact us if you would |
I i Hi | like more information regarding |
10 LH—' | the dovetail cutter. |
F140S80—DOC50-55 e T e T T R e .
S BA7 3y eI TFAITL—h
CODE H Hi Hz | ¢C W - B REMGER @ Bt IRV X4y
| RGeS O FHYTT—IIMIENT—IRKRILITY,
F140S80—DOC 17.5—60 | 60 | 45 2 30 | 17.5| 25 0gmfggzﬁwrm;ga:tﬁamv/ﬂ/a?t/ b
—DOC 25 —60 3 40 25 26 Ogézgggﬁ\’&ﬁ%gi? WICEDBEBBDEELEVET
— — HMOption @®Mounting plate
DOC 35 55 55 40 50 35 28 WStd. Access. @Fixing boltX4 pcs.
_DOC 50 _55 5 70 50 3.4 ENote @®Dedicated work holder for dove tail pre-machined
workpiece.
_DOC 70 _55 100 70 4.7 @®Use the adopter, when you cannot mount it.
@Consult us about the custom-made products for
—DOC100 -—55 — 10 140 1100 55 your machining table.
— & & ~ .
752 Flange mounting
Fig. 1 Fig. 2 Fig. 3
hi 3-G2 6-d2 3-T» 3Gz 6-d33-Ts
- ¢140 P.é.-|’5/|.11020 ®80| A1 ’jd ¢
) O
F140S80—FP85-50 10 H
: -
CODE Fig., H |H1| ¢C (¢ D1/ ¢pD2|¢pD3 ¢pd| h1 T T2 | T3 | d2 |d3| G2
F140S80—FP 63—50 1 |50 |25 63 | 50 — — |40 | 13 |[M5X 8 — — — | — IM6X10| 2.6
—FP 85—50 2 85 73 M6 6.6 3.1
—FP110—70 3 | 7045|110 95 M6X9 | M8 9 3.7
—FP130—75 2 |75 130 8 | 115 | — | 70| 17 |M8X12| M8 - 19 — |M8X 16| 5.5

B AT73y @RIV TAVITL—b @fIBRHRR(=P.5) @74 T5(=P. 6)

B EEMER eHUTIFRIL X4y

| K] Z oMMICEERMMINTERNEREI I T4 I TL—hEIERES,
OIUF I NEMMT —TIVICADEEHFOREOGRVETOTHEHAEIZSL,

M Option ®Mounting plate @Positioner bos(—P. 5) @Adapter(—P. 6)
BStd. Access. @Fixing boltX4 pcs.
HENote @Use the adopter, when you cannot mount it.

@Consult us about the custom-made products for your machining table.

7'3/7'4/ﬁjl/ ;B  Mounting plate
7’(l/9|‘7'7/l**']7(7 NIy Tt T — 7)[/(\_I_§§

4-M12

Bt TERWNSEICTERZEN, BEEOEMT—TIL P.CD.170
EDHET, BMIAEER TS oMb TRELTHBYET, ‘ 4-M10

e

P.C.D.160

BR7YTIHEENLETOTEREE< S,

In the case when you can't install the direct mount type Smart Grip,
please use this mounting plate. We can supply a blank adapter that
is customizable for your machine or we can manufacture a special

adapter for your machine. ¢ 200
—

F200H80—MP140—25 4.3

#xet MST 1-KU-vay MS T corporation

Att-Ti5 T630-0142 ZRR4EEHILARET1738 1738 Kitatahara lkoma Nara 630-0142 Japan
TEL : 0743-78-1184 FAX :0743-78-3854 TEL : 81-743-78-1931 FAX:81-743-78-3854
http://www.mst-corp.co.jp/ http://www.mst-corp.co.jp/

150402020019TC
141101010060TC





